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Part One

College English Practice Tests

Practice Test 1
(130 minutes)

Part 1 Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write an essay about Staying Healthy
on the basis of the points given below. You are given the opening and concluding
sentences of the essay. Your part of the essay should be 100 to 130 words. Write your
essay on Answer Sheet 1.

EE: R EEEF 1 L%,

Points to be covered:

1. EHHEFE
2. FArHIHERR
3. W BB

Staying Healthy
Good health is the most valuable possession a person can have.

If everybody were to do so, there would be much fewer complaints about poor health.

Part 11 Listening Comprehension (30 minutes)

Section A

Directions: In this section, you will hear eight short conversations and two long conversations.
At the end of each conversation, one or more questions will be asked about what

“1-



was said. Both the conversation and the questions will be spoken only once. After
each question there will be a pause. During the pause, you must read the four
choices marked A), B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on Answer Sheet 1 with a single line through the
center.

EE: WSS EEEF 1 LS.

1. A)
B)
<)
D)

2. A)
B)
C)
D)

3. A)
C)

4. A)
C)

5. A)
C)

6. A)
C)

7. A)
B)
C)
D)

8. A)
C)

They don’t have to go to the concert.

His brother will let them use the car.

The subway is fine with her.

They’ll have to rent a car as early as possible.

He wants the others to follow him.
He must study the animal he caught.
He is behind in his schoolwork.

He will catch up with them then.

At the restaurant. B) At the theatre.

At the station. D) At the drugstore.

His age. B) His income.

His nationality. D) His occupation.

He refused to drive her. B) He is glad to drive her.

He forgot his driver’s license. D) He doesn’t have a car.

The room is on fire. B) They are bothered by the smoke.
There is very little breeze. D) Smoking should not be allowed.

They both liked it.

The mother didn’t like it, but the father did.

Neither of them liked it.

The mother didn’t like it because it wasn’t in English.

10 cents. B) 5 dollars.
25 cents. D) 50 cents.

Conversation One
Questions 9 to 11 are based on the conversation you have just heard.

9. A)
B)
C)
D)

10. A)

She could not find the tickets.

She could not find her toothbrush.
She could not carry the suitcase alone.
She could not close the suitcase.

She always forgets things.



B) She never knows how to shut a suitcase.
C) She never remembers where her toothbrush is.
D) He could not spare time to help her.

11. A) They are both lazy. B) They are both forgetful.
C) They are quarrelsome, D) They are bad-tempered.

Conversation Two
Questions 12 to 15 are based on the conversation you have just heard.

12. A) Driver — passenger. B) Policeman — witness.
C) Lawyer — client. D) Judge — defendant.

13. A) At the crossroads of Bridge Street and Churchill Avenue.
B) Outside Brown’s toyshop.
C) Just where the woman was standing.

D) Where the policeman and the woman are talking.

14. A) 10 miles per hour. B) 40 miles per hour.
C) 30 miles per hour. D) 20 miles per hour.
15. A) To write down what she has said. B) To identify the drivers.
C) To sign her name. D) To go to the police station.
Section B
Directions: In this section, you will hear three short passages. At the end of each passage, you

will hear some questions. Both the passage and the questions will be spoken only
once. After you hear a question, you must choose the best answer from the four
choices marked A), B), C) and D). Then mark the corresponding letter on
Answer Sheet 1 with a single line through the center.

EE: R EEEF 1 LEE.

Passage One
" Questions 16 to 18 are based on the passage you have just heard.

16. A) The box was made of wood.
B) The box was extremely heavy.
C) The box was almost broken.
D) The box contained some precious goods.

17. A) A pile of woolen clothes. B) Some wooden articles.
C) A man. D) A woman.

18. A) £235. B) £230.
C) £340. D) £345.



Passage Two
Questions 19 to 22 are based on the passage you have just heard.

19. A) From strangers. B) From their close friends.
C) From the family members. D) From their relatives.

20. A) They usually live all alone by themselves.
B) They want to keep their problems secret.
C) They prefer not to get advice from people they know.
D) They believe in people with special training.

21. A) Social workers. B) Scientists.

C) Elderly people. D) People with special knowledge.
22. A) Their special knowledge. B) Their rich experience.

C) Accepted facts. D) Common sense.

Passage Three
Questions 23 to 25 are based on the passage you have just heard.

23. A) 8 hours. B) 10 hours.
C) 11 hours. D) 12 hours.

24. A) At food shops. B) At post offices.
C) At newspaper shops. D) At drugstores.

25. A) Take a basket and put your items in it.
B) Tell the shop girls what you wish to buy.
C) Pay for what you want to buy as soon as possible.
D) Line up and wait for your turn to be served.

Section C

Directions: In this section, you will hear a passage three times. When the passage is read for
the first time, you should listen carefully for its general idea. When the passage is
read for the second time, you are required to fill in the blanks with the exact words
vou have just heard. Finally, when the passage is read for the third time, you
should check what you have written.

R s+ 1 E1E%

The entertainment ( 26 ) , or show business, attracts many young
people. Unfortunately, only very few can hope to become famous and prosperous. Talent is not
enough because show business is as (27) as any other business. Without a

good manager, a performer can never hope to succeed. Fashion is important in this business, too.
The best tailor in the world will never be a success if he makes old-fashioned clothes. In

&«

(28) the same way, a performer must change his “act” in order to follow
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the taste of the moment. This is true for actors and dancers, but (29) for

singers.
“Pop” (30) “popular”, and a pop singer has to work very hard to
become popular. He must either give the public what they already want, or he must find a new

way of singing that will (31) their attention. Even when he has succeeded ,
and his records are sold everywhere, he «cannot relax. Then he must work
(32) to stay popular, because there are always younger singers trying to

become famous and steal some of the (33)

The life of a successful pop singer is (34) easy. He can only relax

when he is alone, because everything he does is (35) and reported in the

special newspaper written for the “fans”. The fans are the most important people in the world for
the singer. They buy his records, they go to his concerts, and they make him rich and famous.

Part III Reading Comprehension (40 minutes)

Section A

Directions: In this section, there is a passage with ten blanks. You are required to select one
word for each blank from a list of choices given in a word bank following the
passage. Read the passage through carefully before making your choices. Each
choice in the bank is identified by a letter. Mark the corresponding letter for each
item on Answer Sheet 2 with a single line through the center. You may not use
any of the words in the bank more than once.

Questions 36 to 45 are based on the following passage.

Many countries face a (36) more serious economic problem in the form
of an (37) trade balance with other nations. Such an imbalance exists when
the (38) value of a country’s imports exceeds that of its exports. For

example, if a country buys $ 25 billion of products from other countries, yet sells only $ 10
billion of its own products overseas, its trade deficit is $ 15 billion. Many underdeveloped

nations find themselves in this (39) because they lack natural resources or
the industrial (40) to use these resources, and thus have to import raw
materials or manufactured goods.

One (41) of a trade deficit is the flow of currency out of a country. In
the case of an underdeveloped nation, this can cause many financial difficulties, including failure
to (42) debt payments and obstacles to (43) of an

industrial base. Even in the case of a fully developed nation such as the United States, a large
trade deficit is a reason for alarm. American products, made by well-paid workers in U.S.
industries, (44) more to produce than those made in places like Asia, where
labor and material costs are much lower. Money (45) on foreign products is
money not spent on items produced by domestic industries.

e
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A) creation I) somewhat
B) total J) unfavorable
C) somehow K) create

D) effect L) complete
E) cost M) position
F) meet N) affect

G) capacity 0O) case

H) spent

Section B

Directions: In this section, you are going to read a passage with ten statements attached to it.

A)

B)

)

Each statement contains information given in one of the paragraphs. Identify the
paragraph from which the information is derived. You may choose a paragraph
more than once. Each paragraph is marked with a letter. Answer the questions by
marking the corresponding letter on Answer Sheet 2.

In many ways we can all be encouraged to learn another language. Although it may help to
have special language learning abilities, research shows that learners with a wide variety of
intellectual abilities can be successful. In fact, if we look around the world, in country after
country most people can speak more than one language, so in some ways it can’t be all that
difficult.

Having strong motivation helps, of course. We all know that if learners are interested in
something and want to learn it, then they are likely to be more successful. For language
learning, feeling the need to communicate is part of motivation and so is the learner’s
attitude towards the communities where the target language is used. If we are interested in the
people who speak the language and are curious about their culture and way of life, then we
are more likely to learn faster and more easily. The greater the motivation the more one
succeeds, but also the more one succeeds the greater the motivation. This means that it is
important for learners to be aware of their success and not only think of the difficulties in
language learning.

Practice is also important in language learning. Good learners look for opportunities to
practice, they are willing to make mistakes, and they try to communicate messages even if
they do not know all the necessary words for what they want to say. In classrooms, talking
with a partner as well as with the teacher can provide good opportunities for practice. Even if
learners working in pairs or groups do not always provide each other with completely
accurate or authentic language, they can still offer each other genuine communicative
practice if they try to interact with each other and negotiate meanings rather than simply
recite what they know.



D) It is also important to remember that there isn’t only one way to learn a language. People can

be successful using lots of different ways: some learn visually through images and
imagination, others learn better orally; some learn through memorizing, others learn better
through physical action and activity. Still, although some learners may feel they know what
works for them, and they use certain methods, all learners should be willing to try other
methods, including new ones — how will they know what works for them until they have
tried a range of methods?

E) Most learners believe it is important to learn new vocabulary and new rules for more complex

language. This is clearly the case, but it is very important to fit new vocabulary and rules
into what we already know. In learning new words, for example, we should try to relate
them to other words and associate them with what we knew previously. Developing a good
vocabulary, though, is not just a matter of learning more and more new words. It is also a
matter of learning new meanings of words we already know, or combining what we know in
new ways. Vocabulary development therefore includes learning the meanings of idioms and
metaphors where often the combination of apparently simple words is what gives new

meanings.

R SRS+ 2 LR,

46.

47.

48.

49.

50.

51.

a2.

53.

35.

Learning new meanings for familiar words or combine what we know in new ways is also a
means of developing a good vocabulary.

Group work in classrooms is more important than just asking students to repeat what they
have already learned.

If a person has little interest in the people speaking the language he is learning, it’s not likely
for him to learn quickly.

Language learners should not be afraid of making mistakes, so that they can have more
opportunities for practice.

Idioms are usually a combination of simple words and can help enlarge a person’s
vocabulary.

It is hard to say what learning method is more suitable for each individual person until he has
tried various ones.

People are encouraged to learn another language because there are reasons to say that learning
a language is not as hard as we imagine.

It is also very important for us to connect newly learned words and rules with what we knew
previously.

Thinking too much of the difficulties will discourage a person to learn a new language.

When one has a good reason for doing something, he’ll be more likely to succeed.

" A



Section C

Directions: There are two passages in this section. Each passage is followed by some questions
or unfinished statements. For each of them there are four choices marked A), B),
C) and D). You should decide on the best choice and mark the corresponding letter
on Answer Sheet 2 with a single line through the center.

Passage One
Questions 56 to 60 are based on the following passage.

It has been shown that children who smoke have certain characteristics. Compared with non-
smokers they are more rebellious, their work becomes worse as they move up school, they are
more likely to leave school early, and are more often delinquent ( i 7% é9 ) and sexually
premature. Many of these features can be summarized as anticipation of adulthood.

There are a number of factors which determine the onset of smoking, and these are largely
psychological and social. They include availability of cigarettes, curiosity, rebelliousness,
appearing tough, anticipation of adulthood, social confidence, the example of parents and
teachers, and smoking by friends and older brothers and sisters.

It should be much easier to prevent children from starting to smoke than to persuade adults
to give up the habit once established, but in fact this has proved very difficult. The example set
up by people in authority, especially parents, health care workers, and teachers, is of prime
importance. School rules should forbid smoking by children on the premises. This rule has been
introduced at Summerhill School where 1 spent my school days.

There is, however, a risk of children smoking just to rebel against the rules, and even in
those schools which have tried to enforce no smoking by physical punishment there is as much
smoking as other schools. Nevertheless, banning smoking is probably on balance beneficial.
Teachers too should not smoke on school premises, at least not in front of children.

EE: WA+ 2 LIRS

56. In the passage the author puts an emphasis on
A) the effect of smoking among children
B) the reason why children start smoking
C) the difficulty in preventing children from smoking
D) the measures to ban smoking among children

57. Which of the following is a common characteristic of young smokers?
A) Laziness. B) Lack of confidence.
C) Ignorance, D) Disobedience.

58. Which of the following is NOT true according to the passage?
A) To prevent children from start smoking, parents, teachers and health care workers
should not smoke.

B) It’s easier to prevent children from starting to smoke than to persuade adults to stop
smoking.



C) Many children start to smoke because they want to appear mature.
D) Some children start to smoke merely out of curiosity.

59. The author concludes that school rules to forbid smoking
A) should be introduced although it might prove ineffective
B) should be introduced because it was done at the school he studied
C) should not be introduced because it may cause rebellion
D) needn’t be introduced as long as the teachers don’t smoke

60. Which is the author’s attitude towards children smoking?
A) Indifferent. B) Sympathetic.
C) Emotional. D) Objective.

Passage Two
Questions 61 to 65 are based on the following passage.

Traditionally , universities have carried out two main activities; research and teaching. Many
experts would argue that both these activities play a critical role in serving the community. The
fundamental question, however, is how does the community want or need to be served?

In recent years universities have been coming under increasing pressure from both the
governments and the public to ensure that they do not remain “ivory towers” ( % F3%) of study
separated from the realities of everyday life. University teachers have been encouraged, and in
some cases compelled, to provide more courses which produce graduates with the technical skills
required for the commercial use. If Aristotle wanted to work in university in the UK today, he
would have a good chance of teaching computer science but would not be so readily employable
as a philosopher.

A post-industrial society requires large numbers of computer programmers, engineers,
managers and technicians to maintain and develop its economic growth but “man” , as the Bible
says, “does not live by bread alone”. Apart from requiring medical and social services, which
do not directly contribute to economic growth, the society should also value and enjoy literature,
music and the arts. In these cost-conscious times, it has even been pointed out in justification for
the funding of the arts that they can be useful money earners. A successful musical play, for
instance, can contribute as much to the Gross National Product through tourist dollars as any
other things.

EE: R EEEF 2 LS,

61. We can know from the first paragraph that the author
A) believes traditional universities have done a good job serving the community
B) believes it remains to be discussed how universities should meet the needs of society
C) thinks some experts require too much of universities
D) thinks universities should do more than just research and teach

62. It can be inferred from the second paragraph that
A) the society is not satisfied with the present college education

-9-



B) interference from the government is unwelcome
C) teachers are forced to do what they don’t like to do
D) it’s a mistake for universities to teach courses of no commercial use

63. The example of Aristotle indicates that
A) universities in the UK have produced too many good-for-nothing graduates
B) universities should stop teaching philosophy
C) high technology is now valued more than other courses in universities
D) universities should put more stress on computer science

64. According to the passage, literature, music and the arts
A) contribute directly to economic growth
B) are as necessary to man as medical and social services
C) are justified since they bring profits
D) a good way of earning money

65. The author implies that
A) economy should always be a nation’s first consideration
B) universities should take cost into account when they decide what courses they will offer
C) successful musical plays are part of national economy
D) economic growth is not the only need of mankind

Part IV Translation (30 minutes)

Directions: For this part, you are allowed 30 minutes to translate a passage from Chinese into
English. You should write your answer on Answer Sheet 2.

EE: WrBEEEEF 2 LEE,
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Staying Healthy

Good health is the most valuable possession a person can have.




